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Cost Accountancy : Paper — IV
(Management Accountancy)

(1) All questions carry equal marks.

(2) Show necessary workings.

1.  Attempt any two of the following :

[Max. Marks : 100

(@) Distinguish between Cost Accounting and Management Accounting.

(b) What are the limitations of Financial Accounting ?

(c) State the significance of behaviour concept in accounting.

(d) Describe contribution of motivation in accounting system.

2. From the following particulars, you are required to prepare the Balance Sheet of Shri
Ganesh Corporation on 31-3-2013 :

Fixed Assets

Fixed Assets Turnover Ratio (on cost of sales)

Finished Goods Turnover Ratio (on cost of sales)

Gross Profit Ratio on sales

Net profit (before interest) to sales

Fixed charges cover (debenture interest 7%)

Debtor collection period

Material consumed to sales

Stock of raw materials (in terms of month consumption)

Current Ratio
Quick Ratio

Reserve to Capital Ratio
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2.

The following Balance Sheet of Maruti Products Ltd. for the year 2011 and 2012 are

available :
Particulars 2011 2012
Assets : 3 3
Fixed Assets (at cost) 10,00,000 12,00,000
Less : Depreciation 2,00,000 2,50,000
8,00,000 9,50,000
Investment (at cost) 1,80,000 1,80,000
Stock (at cost) 2,00,000 2,70,000
Sundry Debtors 2,25,000 2,45,000
Bills Receivable 40,000 65,000
Pre-paid expenses 10,000 12,000
Misc. Expenditure 15,000 10,000
14,70,000 17,32,000
Liabilities :
Share capital 6,00,000 7,00,000
General Reserve 2,00,000 2,50,000
Capital Reserve (Profit on sale of Investment) - 10,000
Profit & Loss Account 1,00,000 2,00,000
7% Debentures 3,00,000 2,00,000
Creditors for expenses 10,000 12,000
Creditors for supply of goods 1,60,000 2,50,000
Proposed Dividend 30,000 35,000
Provision for Taxation 70,000 75,000
14,70,000 17,32,000

Other information :
During the year 2012 fixed assets was sold for ¥ 8,000 (WDV 10,000,

(1
(i)
(iii)

(iv)
v)

depreciation written of ¥ 30,000)

During the year 2012 investments costing I 80,000 were sold and later in the year

investments of the same cost were purchased.

Debentures were redeemed at a premium of 10% in 2012.

Liability for taxation for 2011 came to ¥ 55,000.
The proposed dividend of last year was paid in 2012,

Prepare a Fund Flow Statement.

OR

Prepare a Cash Flow Statement in traditional format or under AS-3 from the above
mentioned information.
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3. Aashutosh Company Ltd. has given the following particulars. You are required to

repare a Cash Budget for the three months ending 31% March, 2013 :
Months Sales Materials Wages Overheads
(4 3 3 3
2012 :
November 20,000 10,200 3,800 1,900
December 21,000 10,000 3,800 2,100
2013:
January 23,000 9,800 4,000 2,300
February 25,000 10,000 4,200 2,400
March 30,000 10,800 4,500 2,500

(i) 10% sales are on cash basis. 60% of credit sales are collected next month and the
balance in the following month.

(if)  Creditors — materials 2 months, wages 1/5 month and overheads %2 month.

(iii) A machinery will be installed in November 2012 at a cost of ¥ 1,00,000. The
monthly instalment of ¥ 5,000 is payable from January 2013 onwards.

(iv) Dividend at 10% on preference share capital of ¥ 3,00,000 will be paid on 1
March, 2013.

(v) Advance to be received for sale of vehicle of ¥ 20,000 in March, 2013.
(vi) Advance Income tax to be paid in March ¥ 5,000.
(vii) Cash Balance on 1% January 2013 is expected to be ¥ 10,000.
OR
3. (a) Explain the concept of Zero-Base Budgeting (ZBB). State its merits and demerits.
(b) Discuss flexible budget with illustration.

4.  Harshal Electronics Ltd., an electronic goods manufacturing company, is producing a
large range of electronic goods. It has under consideration two projects ‘X’ and ‘Y’ each
costing ¥ 120 lakhs. The Cash Flows have been worked out as under :

At the end of the year Project X Project Y Present Value
(in lakhs of Rupees) of rupee at 15%
1 25 40 0.870
2 35 60 0.756
3 45 80 0.658
4 65 50 0.572
5 65 30 0.497
6 55 20 0.432
7 35 - 0.376
8 15 - 0.327
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‘X’ has a life of 8 years and Y has a life of 6 years. Both will have zero salvage value at
the end of the year. The company tax rate is 40%. The cost of capital of the company is
15%. The company follows straight line method of depreciation.

You are required to evaluate the project according to each of the following methods :
(1) Pay Back Period Method
(2) Net Present Value Method
(3) Profitability Index Method
OR

4. (@) Describe the meaning of capital and profit for purpose of determining the Return
on Capital Employed.

(b) Explain the concept of Weighted Average Cost of Capital (WACC). How it is
calculated ?

5. Shivam Ltd. has given the following information :

(1) Sales? 46,80,000 (25% cash sales) 78,000 units
(2) Raw material cost . 60% of sales value
(3) Labour cost . % 6 per unit
(4) Variable overheads . ¥ 1 perunit
(5) Fixed overheads . ¥ 5 perunit
(6) Budgeted stock levels —

(i) Raw materials . 3 weeks

(i)  Work in progress (material 100%

labour and overheads 50%) : 1 week

(iii) Finished goods : 2 weeks
(7) Debtors are allowed credit . 4 weeks
(8) Creditors allowed credit . 4 weeks
(9) Lag in payment of labour and overheads . 2 weeks
(10) Cash in hand required : ¥50,000
Prepare the working capital budget for a year for the company.

OR

5. Attempt any two of the following :
(@) Discuss Internal Rate of Return (IRR) method.
(b) State significance of the cost of capital.
(c) Describe Return on Investment ratio for evaluation.
(d) Explain the effects of inflation in capital budgeting process.

XA-123 8



	XA-123 
	M.Com. Part – II 
	March-2013 
	XA-123 
	M.Com. Part – II 
	March-2013 


